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p.14 TSample Question(MC2 (/&) OREX 1 47H (2020 4F 11 A 14 HTRETIER)
%2 by more than $20billions from the year

1IE by more than $10billions from the year

p.14 TSample Question(MC2 [f/&)] D 1 17H. 317H (2020 4F 11 A 14 HRTETIEF)
2 $20billions(1 A E V)
1IE  $10billions(1 A€ VY)

p.41 THEH OEARIHD £ & HFEBMOYEIE 1 17H (2020 4 10 A 20 HAR TETIEF)
BB OFEBLESIDPOHBNRTERVE ZIE, FTTRENDEZD n AT
E FZBEDPESPOYFINRTELRNWEZE, TTREINSE n AT

p.47 TEH-CHRME 2(MC1 )] Offdt 4 77H (2020 4F 9 H 24 HETETIEF)
gy D2OMER L AHD L,
E 2,y,2zD22LENR1THB L,

.57 THISIS AR 1(QC FHIRE) ) OfEs 2 /7 H (2020 £ 9 H 24 HERTHTEH)
B2 D% 2,4,6,8.10
E 2 0fE82,4,6,8,10

p.57 -G HFE 3(MCL @) | Offsi K405 2 17H (2020 4 10 H 20 HIRK TETEF)
Rt =22x3xm=2x33xp=(22x3x¢q)3 xp
)3

E n?=2"x3'xm=2x33xp=(22x3xgq

p.74 TEARAKE - B/NAREE] OFEAFIHD £ & ORAAWE - B/NAEHDKRD S 2(3



DOBDEE) OB 1 47H (2020 4 10 A 20 HIKTFTIER)
3R 24 2 36 & 54 DERAAWE - mINREEEKRD B,
IE 24 2 36 & 48 DERANIE - INAREEE RD B,

.80 TS - By/NAEECIERERTE 2(MC1 FIE) | OB (HAER)2 77 H (2021 4
1 A 11 BIRCETIER)

k4 < EEKIC LA WIW AT

E Bk %< BB LAangIh 4T

p.89 [HHE - A B-EERERTRE 4(QC )] O ™26 2 17H (2021 4£ 1 H 11 HARTETIE
%)

R =Mz 2THVYNEZDT

E z=fx2TcHvgnsoc

p.90 MEE - AE-SHE 1(QC M) Offdi T4 5 417H (2020 4 11 A 14 HiRTHTIE
)
(6x3)+4=4RD 2L 4THZL2/5DT, Quantity B=2 745,
(6x3)+4=18+4=4.57%5DT, Quantity B=5 £745,
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p.90 TEE - A &S HE 1(QC )1 OfEsi 55 217H (2020 4 11 H 14 HIRTETIE
%)

2 Quantity A(=0) <Quantity B(=2) £ 7225 2D HEE LR WD T,

IE  Quantity A(=0) <Quantity B(=5) &2 W HEE L R\ DT,

p.91 [E% - FH-IsHMEE 2(MC1 )] ORE (HAGER)L 47H (2020 4F 12 A 28 H
fiX CRTIEF)

BB ORDOBEHRMD — DR\ 22 THE

E ROERFEDO—D %2R\ THAK

p.96 [ d 2 #-FEAERTE 2(MC1 )] OMEX (HAFER)L17H (2021 £ 1 H 11 HIK
TRIIEF)

BOHERETS 6 HOFHRDIZENT

IE #fEd 5 6 floEaHITHNT

p.100 T4 0 -fERME 2) Ofi EA 5 117H (2021 45 1 A 11 HAK TRTIEF)
BOTRY EHWERORFAEL © 2. O/NZ— TN,



E IR ENEBORE] © 2 08%— 12,

e p.104 T4y -HAEME 3(MC1 ME)] Offid 547H (p.104 @ 1 17H)(2020 4 9 H 24 HIK
TRIIER)
R ooy=mz+1)nz+T)=m22+Tmz+nz+7=z(mz+Tm+n)+7,7%3

E zy=(mz+1)(nz+7)=mnz’>+Tmz+nz+7=z(mnz+Tm+n)+7 &7%5

o p.104 4D -FERERHE 3(MCL FIE)) oM 1247H (p.104 ® 8 47H)(2020 4 11 A 14 H
IR CETIER)
= OLhL. L son1Thy,
F L2l L3402 Tho.

SEERS

e p.106 TARY-GAHME I(MC1 )] OfEd 4 17H (p.106 ® 3 17H)(2020 4£ 9 H 24 HAR
TRIIEH)

- D _ (6k +4)
a7~ ® 2 3

P _ (6k + 4)
E ® T~ "3

o p.120 [HCISHIE 2(MCL ) ) o3 3 47H (2021 4 1 H 11 ARCCITER)

R =y =—1
TeeT Staaa

E = 12 - 12
3+ g7 3ty

o p.121 TRHE-GHME 3(MCL M) O M55 247H (2021 4£ 1 A 11 HWCTETIER)

s or — 4y . or — 4y bz —4y
T 3y+5(2x—y)  —3y+10x—5y 10z — Sy
dxr — 4y _ bdr—4y

—3y+ 10z —5y  10x — Sy

o p.121 [HE-ICHME 3

1

—~

MC1 )] OfEai ~2 5 247H (2020 48 10 H 20 HITETIES)

s dr—4y 1
250—4g)" 2
F oo Gr—g 1
250 —4y) 2

o p.136 THEE-ILAERME 6(QC M) DAL 4T (2020 49 H 24 HIR TETIEF)
2 Quantity A(=6) > 0 >Quantity B(= 0.6) #3517 L
IE  Quantity A(= 6) >Quantity B(= 0.6) H &7 L



p.137 THEE-FMERME 9(MC1 R#EH) ] ORESC (¥32)1 47H (2020 45 10 A 1 HAR TETEF)
B 2l g ok Rl = 2kp NI T B & & 1 DIEIZWL DN?
I If 2k—1 4 2k — 2k+1 = 9ky what is the value of x?

p.138 [HEE-FLAEMIE 9(MC1 )| ORIESC (f#:h)1 47 H (2020 4 10 H 1 HAR TATEF)
8 If 2kl 4 2k — 2k+1 — 2ky what is the value of x?

I 2F—1 p 2k _ok+1l — 2kp PRI T B L &, 2 DIEIFWVL D97

p.140 THEE-ICMHME 2(QC [RE) ) DR 5 17H (2020 4F 9 H 24 HIR TRTIEH)
R OEAREDIEDIIHDHEED,
E BEAREHOFIEDIIHDZEED,

p.141 THEHCIS I 3(QC )| O 1 17 H (2020 4 9 H 24 HICITIER)
32O NTHIR B AED 1 =20 LIRS
E ZHICHiR 2704 0% 1=20 LR 2

p.141 TG HME 3(QC M) DOffdi 2 17H (2021 4 1 A 11 HAX TRTIEH)
BO2TT 2T ] = 2x278>() e 21 x277 > 90
EF 27742751 < 2x27>1 < 21 x27%> 20

p.142 THEH-GHBE 5(QC M) OfEdi 4 17H (2020 4F 11 H 14 HITETIEF)
R O=108x(01)""x2"=2"x 1071 =128 x 1071°
=10"8x (0.1)" x 2" =27 x 10715 =128 x 10~1°

o

H

p.148 TRFEM | DOMEHIIRALAT (2021 4 1 H 11 HIK TR IEF)
R —16(=x) © 4 FIRGFELR,
E —16(=2) ® 4 FRIZFEL 2,

p.152 TH-JERERTE 1(QC M) O 1 17H (2021 4£ 1 A 11 HAR TETIEF)
R Quantity A IZFEHRODFHENTESDT
IE  Quantity A IZEHBOFAENTESDT

p.160 THR-JGHFME 6(MC1 )] DS (330)1 47H (2020 4£ 10 A 1 B TETIEF)
s If \/pis an integer



1IE If p is an integer

o p.160 AL ISR 6(MC1 )] ORI (W31 47H (2020 4 10 A 1 HECCITER)
=P AT
E p Al

e p.160 [R-JEAME 6(MCL M) O 2 17H (2020 4 11 A 14 HIKTETIER)
B OCHERNENMTED, pREDLSI BREBHTHMD Z LB TE, ¢ X FEHERDT ¢l
+27 x 3%(r, s (3MER) LERKT I ELATE S,
F CERBOMTES, % £2"x 35 B, 2 =22"x3% 25D T,
0<2r<3,0<2s<2THBIEIRNh5,

o p.175 [NERHRIE 3(MCI ) ) B (HAER)L FH (2021 41 5 11 HETH
)
B OHEM36ERBEEIIBBDIINVLDDNDH ST
E BM36LB3E5HBDEN DHBHM?

e p.177 NS 6(NE &) OfMESC (HAGER)L 17H (2021 4 1 H 11 HAKTETIE
%)
BONETITBWT, 1 DM EoERET AHiD EORRI,
E NEIZBWT, 1 DB BT 10 EfRIE,

o p.178 T/NE-GHRTE 7(NE )] O 7 17H (2020 4 10 A 1 HARTETIEF)
B e abD & E
IF e a<bDt

e p.186 [EH-ILAHME 2(QC M) DO 2 17H (2020 4F 11 H 14 HTETIER)
BRO2B|LTL L0/NE LB HEIE, TTDMEDMSEIZ/NS K RBDT,
E 2FLT1 /NS L ABHIE TDMEOHMIEIZ 1 L D/NXLRBEDT,

e p.189 [ ILHME 5(MC M)l Of##l 6 177H (2020 4 11 A 14 HiR TRETIEF)
R (513,2),(-5,17,-2),(10,14,1),(-10,11, —1)
E (5,13,2),(-5,17,-2),(10,14,1), (10,16, —1)

e p.192 T[] DOMETHS 247H (2021 4F 1 H 11 HMTETIER)
R OEOXED, RDBELLIELATDED,



E EOBED, KDDELIZLLTD@ED

o p.203 [L-JSHE 1(QC HE)) Offsi 26 317H (2021 4 1 A 11 HAK TRTIER)
R OKRPHEFBIINT2EBO N TOILERE S TE
E KR¥FESHIINTI2HZORE2 TR

e p.206 TIb-G AT 5(MC1 @)1 ORI (HAGER)L 7H (2021 41 A 11 HAKTETIE

B OIHIFOEEbE Y E 12EANS Z N TE S,
F 1EIZOEEZD DY 12HAND ZENTE S,

e p.209 [H-JEHME 8(MC1 (@)1 OfEa p.209 @ 1 17H (2020 4 10 H 26 HAX TETIEF)
B O T5¢, 200K EAELDLELEEA LV OEMIFICETARAEITRE, LFOED,
E T3¢, 200KEE2HbEELXVOEMIZETAREZLTAE, LR,

o D219 [F4s-FERENI 5(QC M) DRI (A1 17H (2021 4 1 A 11 ARRTHT
EF)
B 55774 bR UL $600 &KL TV,
E 52774 MO UBAHIIE $600 Z iR LTV,

e p.224 HAEJLHME 3(QC ME)] ® Quantity A(2020 4 10 H 26 HAR TETIEH)
$% The percent change in the toltal number

1IE  The percent change in the total number

o D.304 [R%ROfMEE-IEFHME 5(MC2 )] Off#i F2 5 347H (2020 4£ 10 A 5 HIKT
ATIER)
2 O[C| FAED, —T<azy<0&Dz#£0,y+Thb,
E [C]Efl&D, -T<ay<0&D 2£0,y#0Tha,

o p.310 T fE-FEAERTE 3(MC2 Ri#EH) ] Of#di 6 17H (2020 4 10 A 5 HARK TETIEH)
R e 2r4+12< <= 22 < 12 <= < —6 DK
F e 22 +12<0 < 22 < 12 <= z < —6 DI

o p.317 [HEHEHR-EAERE 3(MCL ME)] s 205 2 17H (2020 4 12 A 28 HIKTETIE
#)



D317 TH5% e ML SERERIE 3(MC1 ) ) OREBUREST (2020 25 10 A 1 HRCITIER)
B LT, BADLAS,
E £-T. B2®rn5,

p.335 [HEREf-ELAE RS 6(MC1 [RE) ] Df#ES 4 17H (2020 4 9 H 24 HITETIER)
B oV -42+ (- (-3)2=5=
E APt (BF=s=

p.341 TSRS - 3(QC M) O NS 317H (2020 4£ 9 H 24 HAR TETIEH)
BBEDAZER 360 > 361 KT HDT
REDAER 360 < 361 IHANLT BHDT

M 3

p.342 [EERSE - FH R 4(QC [IRE) | O A5 2 47H (2020 4 9 A 24 HEKTETIER)
2 Quantity A(= —2) >Quantity B—v/5 = —2.23 - - -
E Quantity A(= —2) >Quantity B(= —/5 = —2.23---)

p.342 TG A RME 5(MCL R#E) ] ofE (363)1 17H (2020 4 10 A 26 HTET
E)

2 If p # q and the slope of the line passing throught points

1IE If p # g and the slope of the line passing through points

p.374 T=fAJE- 5 HFME 3(QC M) | OfEst ~75 317H (2020 4 10 A 8 HTRTIEHT)
2 (QuantityB)=z+w=z2z+(c+d)=(a+c¢c)+d=180+d
E (QuantityB) =z4+w=24(c+d)=(2+¢c)+d=180+d

p.403  TVUAP-ZRERE 6(MC1 ) | DS 1 17H (2021 45 4 H 26 HRTRTIEH)
R MBEOERE
E MBOERZ

p.439 TH-iGHME 4(MC1 ME)] Ol K225 2 /7H (2020 4 11 H 21 HAR TETIESY)

2
®m oo (L) 2¢O
mS=mr W(27r> 472 47
2 _(C\N?*_ mC* _C?
E S=mr _”(27r> T 4n? T 4r



o p.456 TZR-JaHME 3(MCL &)1 OR—IEX (330)3 17H (2020 4F 10 A 20 HTETIEF)
£2 ases when the closed crate rests

IE  bases when the closed crate rests

o p.467 GG DOB-HERME 4] OB ($30)2 17H (2020 4 10 A 7 HIK TETIEF)
% and te Company B
IE and the Company B

o p.479 THEOH-IGAME 2(QC M) OfEdi 2 47H (2020 4 10 H 7 HAR TETIEH)
B OTH#HD IWMLA LD VEZITNA LS a1 VDR 7]
I T IWLAEDaA VEZITRS WL SR T4 VDELD J5 ]

o D.ASO THIA OISR 3 (QC M) | ORIES (332)3 47H (2021 4 1 A 11 HACITIE
)
2  distributed among 8 student if no

1IE distributed among 8 students if no

o D495 TRER-IGHIE 2(MC1 BB OfES T4 5 2 47H (2020 48 10 H 7 HICCATER)
mo1-Ll-2
3 6
1_ 2
E 1-5=3

o D498 [ JE AR 6(MC1 ) | ORI (3532) DL (2020 4F 10 A 7 HALTETER)
£ @009 @ (0092 ©1-(0092 O 091)2 @ 1-(0.91)"
E @009 @ (009 ©1-(0.09" @ 09" @ 1-(091)"

e p.534 TlOHEFE- s HE 4(QC RiE) ] ORME (38X) @ 2 17H (2020 4 10 H 8 HIRT
FTIEFY)
£  into 7 intervals.

IE  into & intervals.

e p.534 TMliD#EEHE-ISHE 4(QC M) ORIE (f#d) @ 1 17H (2020 4£ 10 H 8 HWKT
FTIER)
B TODOXBENZIZ V=TT L
E 8 ODOKMIZZNV—=T431F 1L



e p.553 [EG-BEME 2(QC ME)) ofEdio 2 17H (2020 4 11 A 23 HiR TETIEHY)
mOFLT  24+y+256425=70 <= z+y=20(<= x=20—y) ZHWVT,
IE ZLT. 24+y+25+25=70 <= z+y=20(<= y=20—2x) ZHWVT,

o p.553 THEA-FEIE 2(QC M) D3O 4 47H (2020 4 11 A 23 HMCAIER)
(MR HROTER) =25+ y =25+ (20— y) =45 —y <50 (- y>0)
E (MaM3-Esomi) =25+y=25+(20—2)=45—2 <50 (.- z>0)

o p.566 [BIE DIEAHIAD X & A RBIE O BAH 1(2020 4 10 H 20 HAR TETIEH)
Bfly)=Vvr+4
E flx)=vz+4



